
PHYS 189 Quiz II (practice) Feb 17, 2014

Name:

Answer the questions in the spaces provided on the question sheets. If you run out of
room for an answer, continue on the back of the page.

8550.0W
22.0µF

t0

515.0 V

1. Find the charge, as a function of time, on the capacitor for the above circuit when the switch is closed.
What is the value for each at 5.0 × 10−5 seconds? What about 150.0 × 10−3 seconds? What about 1.0?
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Figure 0.1: Charging a capacitor as a function of time (left) and discharging as a function of time (right).
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100.0W 100.0W

14.0 V
600.0W

400.0W

12.0 V

2. Using the loop and junction rules, find the current in each branch of the above circuit. Label each branch
and give its current.
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50.0W 75.0W 45.0W

60.0W 80.0W 50.0W

25.0 V

3. Find the equivalent resistor in the above circuit and the current in each branch of the circuit. Hint: first
treat each branch individually in series and find the equivalent resistor for each branch, then treat the
parallel problem.


